LIBERTY FURNITURE

Liberty Furniture Assembly instructions
INDUSTRTI ES,INZC
QUEEN PANEL HEADBOARD
QUEEN PANEL FOOTBOARD
ITEM # 823-BR13/823-BR14/823-BRY0 DESCRIPTION PANEL BED RAILS PACK

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small parts which may
have some loose inside the carton during shipment. Identify and count all parts and compare with the parts List Below:

HARDWARE LIST

NO. | SKETCH HARDWARE Q'TY
1 @5/16"(@16) Flat Washer 10 Part [Headboard [Footboard|side Rail| Bed Slats | Short Slat
2 => | 05/16'@12) Spring Washer 10 List|  (a) ® | © Support (E)
3 & #5/16" Hex Nut 8 KING ! ! 2 4 4
4 fo0 @5/16"*89mm Double thread bolt 8 Footboar
5 %a 12mm Open-Head Wrench 1 legs (F)
6 powse> | #8%1" Screw 16 2
7 | cmmmr(§ | 5/16" *L120mm JCBC Bolt 2
8 || 4*s9mm AllenKey

Page 1 of 1 MADE IN VIETNAM




